ENGLESKI JEZIK 2 – GRAMMAR AND VOCABULARY
Ime i prezime: __________________________				Modul i broj indeksa: ______________
I Circle the correct answer:
1. Kevin bitterly regrets _________ to _________ Netherlands when he had the chance.
a) not to go/-		b) not to go/the		c) not going/-		d) not going/the
2. I met _____ girl I told you about yesterday at _____ Indiana University.
a) a/the	      		b) the/-     		c) a/-			d) the/the
[bookmark: _Hlk167275168]3. Who __________ to work with every morning?
a) do you drive		b) you drive		c) you do drive		d) drives you
4. _________ car is the red Volkswagen Golf outside in the parking lot? They parked ____ my parking spot.
a) Who’s / in		b) Who’s / at		c) Whose / in		d) Whose / on
5. When the war ______, my grandfather managed to ______ some of the local language where he was stationed.
a) set in/take up		b) broke out/take up	c) set in/pick up		d) broke out/pick up
6. Sorry I’m late, I had to stop _____ a book on my way over. I tend _____ one every month.
a) to get/to buy		b) to get/buying		c) getting/to buy  		 d) getting/buying
7. I had to _________ because it was hurting my lungs.
a) give up to smoke	b) give up smoke		c) give up smoking	d) have given up to smoke
8. _____ English think that it’s unacceptable for a person to be out of _____ work for longer than a few months.
a) The / a		b) The / ∅		c) ∅ / the		d) ∅ / an
9. John says that _______ that job in customer service was ________ mistake he has ever made.
a) taking / worst		b) taking / the worst	c) to take / worse	d) to take / the worse
10. And _______ place in the race goes to Sally Smith, who finished the sprint in ________ seconds.
a) 2th / 22.7		b) 2rd / 22,7		c) 2nd / 22.7	d) 2st / 22,7
11. Belgrade to Cologne is a _________ flight.
a) two-hours’		b) two-hours		c) two-hour’		d) two-hour
12. London is ________ than Edinburgh, but Edinburgh is ___________ than London.
a) busier / colourfuller	 b) busier / more colourful		c) busyer / colourfullest     d) busyer / most colourful
13. The ___________ of this aircraft is nine _________ km/h.
a) flying speed / hundred	b) fly speed / hundred		c) flying speed / hundreds	d) fly speed / hundreds
14. “Excuse me, when does the plane _____ off?”	-“We depart ____ 3pm.”
a) take / at		b) go / at			c) take / in		d) go / in
15. I’ve been working _______ over the past week, because my boss has been giving me more work ______.
a) hardly / lately		b) hardly / late		c) hard / lately		d) hard / late
16. She said she wasn’t hungry, so she would order something off the _________ menu.
a) child’s		b) childrens’		c) childs’		d) children’s
II Rewrite the sentences following the instructions in the brackets:
1. Swapbodies have more length, width, and softness than containers.(replace the underlined with adjectives in suitable forms)
Swapbodies _______________________________________________________________________________________.
2. Around 44.8% of cat owners adopted their pet from a shelter or the street.(spell out the underlined using words)
Around ___________________________________________________________________________________________.
3. They are studying to become engineers for traffic on roads. (create a compound from the underlined)
They are studying ___________________________________________________________________________________.
4. Sarah started crying, and everyone felt sorry for her. (replace the underlined with a phrasal verb)
Sarah _____________________________________________________________________________________________.
5. The adoption of rail transport lowered shipping costs. (ask a question so the answer is the underlined part of the sentence)
_________________________________________________________________________________________________?
6. DHL can handle your shipment quickly and efficiently.(ask a question so the answer is the underlined part of the sentence)
_________________________________________________________________________________________________?
7. This container measures twenty feet. (create a compound from the underlined)
This is a __________________________________________________________________________________________.

I Circle the correct answer:
1. Traffic jams or __________ are a huge problem in big cities, agglomerations, _______ and megalopolises.
a) carveyors / conurbations	b) congestions / conurbations	c) carveyors / congestions     d) congestions / carveyors
2. Due to the closure of the main ______ road, we had to take the ______ route.
a) trunk / round		b) minor / surround  		c) side / around		d) trunk / by-pass
3. _____ is important for major ___ such as Frankfurt - the link between means of transport is essential for the infrastructure.
a) Intermodalism / hubs	b) Intermodalism / retails		c) Inter-city / hubs	d) Inter-city / retails
4. Underground systems and ________ are eco-friendly ways of solving the problem of ________ commuting.
  a) carveryors / inter-city	      b) carveyors / long-distance	   c) Light Railway / inter-city	   d) Light Railway / rural
5. A frequency from the Earth to the satellite is the ____ frequency, and GEO (____ orbit) satellites cover the largest surface.
a) down-link/ground Earth     b) down-link/geosynchronous     c) up-link/geosynchronous      d) up-link/ground Earth
6. In highway maintenance, the ______ are different for flexible and ______ pavements.
a) criterion / hard	b) criterion / stiff		c) criteria / solid  	 d) criteria / rigid
7. Roads that have a large volume of ______ transport need to have greater resistance to ______.
a) freight / fatigue	b) fright	/ durability	c) freight / durability	d) fright / fatigue
8. Both ailerons and flaps are ______ to the wing of an aircraft, but the ______ are used to slow down the aircraft.
a) hooked / ailerons	b) hinged / flaps		c) hung / ailerons	d) hanged / flaps
9. Mechanical force that works opposite from the direction of the aircraft is called __________.
a) lift		b) thrust		c) drag		d) weight
10. Wider ship fronts, also known as _____, are useful for ships transporting liquids called ______ for stability purposes.
a) sterns / tramps	b) sterns / tankers	c) bows / tramps		d) bows / tankers
11. The FHS (Fast Handling _____) can operate with either semi-cranes or _____ cranes.
a) system / gantry	b) service / gantry	c) system / full		d) service / full
12. _________ can mean either loading/discharge of cargo, or giving and receiving information about post.
a) Intermodalism	 b) Interchange		c) Inter-city	     d) Inter-storage
13. Nowadays, posts can track the mail ______ going from the despatching office of ________ to the receiving one.
a) density / electronics	b) mass / exchange	c) volume / exchange	d) quantity / electronics
14. Due to an increase in railway traffic, we had to increase the number of operating trains, also known as _______.
a) driving stock		b) stock fleet		c) drive park		d) rolling stock
15. Older roundabouts with _______ approach did not have the rule where motorists give up their ________.
a) tangent / right-of-way	b) tangent / right-to-go	c) deflected / right-of-way	d) deflected / right-to-go
16. Longitudinal and ________ cracks in the road are different because the latter are __________ to the direction of the road.
a) transverse / parallel	b) transverse / perpendicular	c) tangent / parallel	d) tangent / perpendicular
II Complete the sentences with the most suitable form that is related to the word in brackets:
1. Since Belgrade is such a major __________ (catch) area, ____________ (congest) is to be expected.
2. The _____________ (wear) course of a pavement is how quickly its layers give in to ___________ (load) fatigue.
3. The piloting students were ____________ (initial) confused about what role do _____________ (elevate) have on aircraft.
4. _____________ (communicate) satellites create a channel and establish a connection with a _________ (transmit).
5. The bulk _________ (carry) broke down in the middle of the shipment because of a faulty _______ (propel) shaft.
6. I am not sure if you should make an _________ (invest) in that company – they don’t seem ___________ (rely).
7. _________ (deflect) of the vehicle path and no pedestrian _________ (cross) are key components of roundabouts.
